**Zeitschrift:** Commentarii Mathematici Helvetici

Herausgeber: Schweizerische Mathematische Gesellschaft

**Band:** 45 (1970)

**Artikel:** On the Extremality of Certain Teichmüller Mappings.

Autor: Reich, Edgar / Strebel, Kurt

**DOI:** https://doi.org/10.5169/seals-34664

#### Nutzungsbedingungen

Die ETH-Bibliothek ist die Anbieterin der digitalisierten Zeitschriften auf E-Periodica. Sie besitzt keine Urheberrechte an den Zeitschriften und ist nicht verantwortlich für deren Inhalte. Die Rechte liegen in der Regel bei den Herausgebern beziehungsweise den externen Rechteinhabern. Das Veröffentlichen von Bildern in Print- und Online-Publikationen sowie auf Social Media-Kanälen oder Webseiten ist nur mit vorheriger Genehmigung der Rechteinhaber erlaubt. Mehr erfahren

#### **Conditions d'utilisation**

L'ETH Library est le fournisseur des revues numérisées. Elle ne détient aucun droit d'auteur sur les revues et n'est pas responsable de leur contenu. En règle générale, les droits sont détenus par les éditeurs ou les détenteurs de droits externes. La reproduction d'images dans des publications imprimées ou en ligne ainsi que sur des canaux de médias sociaux ou des sites web n'est autorisée qu'avec l'accord préalable des détenteurs des droits. En savoir plus

#### Terms of use

The ETH Library is the provider of the digitised journals. It does not own any copyrights to the journals and is not responsible for their content. The rights usually lie with the publishers or the external rights holders. Publishing images in print and online publications, as well as on social media channels or websites, is only permitted with the prior consent of the rights holders. Find out more

**Download PDF: 20.08.2025** 

ETH-Bibliothek Zürich, E-Periodica, https://www.e-periodica.ch

# On the Extremality of Certain Teichmüller Mappings<sup>1</sup>)

by Edgar Reich and Kurt Strebel

### § 1. Introduction

Let G be the domain  $G = \{z \mid y > |x|^{\alpha}\}$ , where z = x + iy and  $\alpha \ge 1$ , and let F be the horizontal stretching of G onto G' = F(G) by the factor  $K_0 > 1$ , i.e.  $F(z) = K_0 x + iy$ . F is called *extremal* if the maximal dilatation K of every quasiconformal mapping f of G onto G' which has the same boundary values as F satisfies  $K \ge K_0$ . It is called *unique extremal* if  $K \ge K_0$  and if  $K = K_0$  implies f = F.

It is known [3] that for  $\alpha = 1$  F is not extremal (but there exists a unique extremal quasiconformal mapping different from F) whereas for  $\alpha > 1$  F is extremal [2]. In a recent paper [1] Eugen Blum proved that for  $\alpha > 3$  F is unique extremal. We will now give a different proof of this fact by means of a differential inequality and show that the result is also true for  $\alpha = 3$ . Moreover by the construction of explicit mappings different from the horizontal stretching F, but with the maximal dilatation  $K = K_0$ , we show that for  $1 < \alpha < 3$  uniqueness does not hold.

The extremality proof does not depend on the lower part of the domain; we may replace this part by an arbitrary Riemann surface. We would then have a (schlicht) subdomain  $\{z \mid y > |x|^{\alpha}, y > y_0\}$  for some  $y_0 > 0$  and to prove extremality of F for  $\alpha > 1$  the integration (see § 2 below) would have to start off at some  $y_1 > y_0$  instead of zero. For the proof of unique extremality this is still true if one makes the additional hypothesis that the welded-on piece of surface has finite area. The integration must then extend over this surface also rather than start at zero. The inclusion of this more general case would however just complicate the formulas with some additive constants. As the emphasis in our work is the determination of the exponent  $\alpha$  and the method, rather than generality, we restrict the consideration to the domain G.

### § 2. The Differential Inequality

Let f be a quasiconformal mapping of G onto G' with maximal dilatation K which agrees with F on the boundary  $\partial G$  of G. The length-area method applied to the mapping f in the domain  $G_y = G \cap \{\text{Im } z < y\}$  yields

$$2K_0\eta^{\beta} \leqslant L(\eta) = \int_{-\eta^{\beta}}^{\eta^{\beta}} |f_z + f_{\bar{z}}| d\xi \tag{2.1}$$

<sup>1)</sup> Work done with support from National Science Foundation Grant GP-7041 X.

with  $L(\eta)$  the length of the f-image of the segment

$$\gamma_{\eta} = \{z \mid \operatorname{Im} z = \eta, -\eta^{\beta} \leq \operatorname{Re} z \leq \eta^{\beta}\}, \beta = 1/\alpha < 1.$$

Integration over  $\eta$  from zero to y and subsequent application of the Schwarz inequality yield

$$Cy^{\beta+1} \le \int_{0}^{y} L(\eta) d\eta = \int_{0}^{y} \int_{-\pi^{\beta}}^{\eta^{\beta}} |f_{z} + f_{\bar{z}}| d\xi d\eta, C = \frac{2K_{0}}{\beta+1}$$
 (2.2)

$$C^{2}y^{2\beta+2} \leq \left(\int_{0}^{y} L(\eta) \, d\eta\right)^{2} \leq \int_{G_{y}}^{y} J \, d\xi \, d\eta \cdot \int_{G_{y}}^{y} \frac{|1 + \kappa|^{2}}{1 - |\kappa|^{2}} \, d\xi \, d\eta,$$
 (2.3)

where  $J(z) = |f_z|^2 - |f_{\bar{z}}|^2$  is the Jacobian of f and  $\kappa(z)$  is its complex dilatation. We use the following estiamtes for the right hand side integrals:

$$\iint_{G_{y}} J \, \mathrm{d}\xi \, \mathrm{d}\eta \leqslant 2K_{0} \int_{0}^{y+\delta(y)} \eta^{\beta} \, \mathrm{d}\eta = C(y+\delta(y))^{\beta+1} \tag{2.4}$$

with  $\delta(y) \ge 0$  the maximal upper deviation of  $f(\gamma_y)$  above the horizontal Im z = y, i.e.  $\delta(y) = \sup_{z \in \gamma_y} \{ \text{Im } f(z) - y \};$ 

$$\iint_{G_{y}} \frac{|1+\kappa|^{2}}{1-|\kappa|^{2}} d\xi d\eta \leqslant \iint_{G_{y}} \left[ K - \frac{2}{1-k^{2}} (k - \operatorname{Re} \kappa) \right] d\xi d\eta = \frac{2K}{\beta+1} y^{\beta+1} - I(y)$$
(2.5)

with 
$$k = \frac{K-1}{K+1} = \operatorname{ess sup} |\kappa(z)|$$
 and  $I(y) = \frac{2}{1-k^2} \iint_{G_y} (k - \operatorname{Re} \kappa) \, \mathrm{d}\xi \, \mathrm{d}\eta$ .

Evidently I(y) is an increasing function as the integrand is nonnegative. Inserting (2.4) and (2.5) into (2.3) we get: For every K-quasiconformal mapping f of G onto G' with  $f | \partial G = F | \partial G$  the inequalities

$$C^{2}y^{2\beta+2} \leq \left(\int_{0}^{y} L(\eta) \, d\eta\right)^{2} \leq C(y+\delta(y))^{\beta+1} \left(\frac{2K}{\beta+1} y^{\beta+1} - I(y)\right)$$

$$\leq C\frac{2K}{\beta+1} y^{\beta+1} (y+\delta(y))^{\beta+1}$$
(2.6)

hold, and consequently

$$K_0 \leqslant K \left( 1 + \frac{\delta(y)}{y} \right)^{\beta + 1}. \tag{2.7}$$

To estimate  $\delta(y)$  we apply the following lemma [3]: Let G be a domain of the z-plane and let  $\gamma_{\eta}$ , with length  $l(\eta)$ , denote the intersection of the straight line Im  $z = \eta$  with G. Let F and f be as before. Then under the assumption that  $l(\eta) \leq M$  for  $y \leq \eta \leq y + M\sqrt{KK_0}$  we have  $\delta(y) \leq M\sqrt{KK_0}$ .

For given  $y \ge 0$  let  $\bar{y} > y$  be the solution of the equation  $\bar{y} = y + 2\sqrt{KK_0}\bar{y}^{\beta}$ . Then for  $y \le \eta \le \bar{y}$  we have  $l(\eta) \le 2\bar{y}^{\beta}$  and therefore  $\delta(y) \le 2\sqrt{KK_0}\bar{y}^{\beta}$ . From this we derive

$$\lim_{y \to \infty} \frac{\delta(y)}{y} \leqslant \lim_{y \to \infty} \frac{2\sqrt{KK_0}\bar{y}^{\beta}}{\bar{y} - 2\sqrt{Kk_0}\bar{y}^{\beta}} = 0.$$
 (2.8)

By (2.7), therefore,  $K_0 \le K$ . This proves that F is extremal for all  $\alpha > 1$ .

Assume  $K=K_0$ . We now conclude from the first and third member of (2.6)

$$\left(1 + \frac{\delta(y)}{y}\right)^{\beta+1} I(y) \leqslant C\left[\left(y + \delta(y)\right)^{\beta+1} - y^{\beta+1}\right]. \tag{2.9}$$

This gives the following sufficient condition for the unique extremality of F: If

$$\lim_{y \to \infty} \left[ (y + \delta(y))^{\beta+1} - y^{\beta+1} \right] = 0 \tag{2.10}$$

holds, then  $\lim_{y\to\infty} I(y)=0$ , and therefore f=F. Namely, we conclude that  $k-\text{Re }\kappa\equiv 0$ , which implies  $\kappa\equiv k$ . Because of (2.8) the sufficient condition (2.10) is equivalent to the condition

$$\underline{\lim}_{y \to \infty} y^{\beta} \delta(y) = 0. \tag{2.11}$$

In order to put the inequality (2.6) into a more manageable form we introduce the lower semi-continuous function  $\Delta(y) \ge 0$  by

$$L(y) = 2Ky^{\beta} + \Delta(y). \tag{2.12}$$

The inequality between the second and the last member of (2.6) then becomes

$$\int_{0}^{y} \Delta(\eta) \, \mathrm{d}\eta \leqslant C y^{\beta+1} \left[ \left( 1 + \frac{\delta(y)}{y} \right)^{(\beta+1)/2} - 1 \right] \leqslant C_{1} y^{\beta} \, \delta(y), \tag{2.13}$$

where the last step holds for all sufficiently large y, say  $y \ge y_0$ , and a constant  $C_1 > C(\beta+1)/2$ . From this we deduce that

$$\lim_{y \to \infty} \frac{1}{y^{\beta+1}} \int_{0}^{y} \Delta(\eta) \, \mathrm{d}\eta = 0 \tag{2.14}$$

and therefore

$$\underline{\lim_{y \to \infty} \frac{\Delta(y)}{y^{\beta}}} = 0. \tag{2.15}$$

For a given value of  $\delta(y)$ , L(y) is minimized when  $f(\gamma_y)$  is the upper part of an isosceles triangle; that is,

$$\delta(y)^{2} \le \left(\frac{L(y)}{2}\right)^{2} - (Ky^{\beta})^{2} = Ky^{\beta} \Delta(y) + \frac{\Delta(y)^{2}}{4}. \tag{2.16}$$

This allows us to transform (2.13) into an inequality involving only the function  $\Delta$ :

$$\int_{0}^{y} \Delta(\eta) \, \mathrm{d}\eta \le C_{2} \left[ y^{3\beta} \, \Delta(y) \right]^{1/2} \left[ 1 + \frac{\Delta(y)}{4Ky^{\beta}} \right]^{1/2}, \tag{2.17}$$

with  $C_2 = C_1 \sqrt{K}$ . Setting  $u(y) = \int_0^y \Delta(\eta) d\eta$  we get the differential inequality

$$u(y) \leqslant C_2 \left[ y^{3\beta} u'(y) \right]^{1/2} \left[ 1 + \frac{u'(y)}{4Ky^{\beta}} \right]^{1/2}$$
 (2.18)

which we solve for u':

$$u' \ge Ay^{\beta} \{ \sqrt{1 + u^2 B^{-1} y^{-4\beta}} - 1 \}, y \ge y_0,$$
 (2.19)

with A=2K,  $B=KC_2^2=K^2C_1^2$ . This holds for every quasiconformal mapping f of G onto G' with maximal dilatation  $K=K_0$  which is equal to F on  $\partial G$ . Dividing both sides of (2.19) by  $y^{\beta}$  and using (2.15) gives

$$\underline{\lim}_{y \to \infty} y^{-2\beta} u(y) = 0. \tag{2.20}$$

### § 3. Solution of the Differential Inequality (2.19)

We first want to show that the relation (2.20) can be strengthened to

$$\lim_{y \to \infty} y^{-2\beta} u(y) = 0. \tag{3.1}$$

To this end we derive from (2.19) a differential inequality for  $h(y) = y^{-2\beta}u(y)$ . We get

$$u' = 2\beta y^{2\beta - 1}h + y^{2\beta}h' \geqslant Ay^{\beta} \left\{ \sqrt{1 + h^2 B^{-1}} - 1 \right\}$$
 (3.2)

and therefore

$$2\beta y^{\beta-1} h + y^{\beta} h' \geqslant A\left\{\sqrt{1 + h^2 B^{-1}} - 1\right\}$$
 (3.3)

Assume that for some M>0  $\overline{\lim}_{y\to\infty} h(y) \ge 3M$ . Then because of (2.20) there is a

sequence of points  $y_n \to \infty$  such that  $M \le h(y_n) \le 2M$  and  $h'(y_n) \le 0$ . Consequently

$$4\beta M y_n^{\beta-1} \geqslant A \left\{ \sqrt{1 + M^2 B^{-1}} - 1 \right\} \tag{3.4}$$

which is impossible, since the left hand side goes to zero with  $y_n \to \infty$  whereas the right hand side is a positive constant.

We now go back to the original inequality (2.19). Since  $u^2y^{-4\beta}$  is bounded for  $y \ge y_0$ , there is a positive number a such that

$$\sqrt{1 + u^2 B^{-1} y^{-4\beta}} - 1 > a u^2 B^{-1} y^{-4\beta}$$

The inequality (2.19) therefore becomes

$$u' \geqslant b \frac{u^2}{y^{3\beta}}, y \geqslant y_0, \tag{3.5}$$

with b = Aa/B. The right hand side is non-negative. Thus  $u' \ge 0$ . Suppose  $u(y_1) > 0$  for some  $y_1 \ge y_0$ . Then  $u(y) \ge u(y_1) > 0$  for  $y \ge y_1$ , and we can integrate (3.5) after separation of variables to get

$$\frac{1}{u(y_1)} \ge \frac{1}{u(y_1)} - \frac{1}{u(y)} \ge b \int_{y_1}^{y} \frac{\mathrm{d}t}{t^{3\beta}}.$$
 (3.6)

This is clearly impossible for  $\beta \leq \frac{1}{3}$  since the right hand side is unbounded as  $y \to \infty$ . Therefore  $u(y) = \int_0^y \Delta(\eta) d\eta = 0$  for  $y \geq y_0$ . As  $\Delta$  is lower semicontinuous, we must have  $\Delta(y) \equiv 0$ . Therefore by (2.16),  $\delta(y) \equiv 0$  ( $y \geq 0$ ). Thix implies uniqueness, by (2.11).

We have thus proved uniqueness for  $\alpha \ge 3$ . For  $\alpha < 3$ , i.e.  $\beta > \frac{1}{3}$ , the differential inequality (2.19) with the side condition (2.20) has positive solutions and therefore does not allow us to prove uniqueness. It is in fact easily verified that  $u(y) = cy^{3\beta-1}$  satisfies both (2.19) and (2.20) for sufficiently small c > 0.

## § 4. Construction of a Mapping, $1 < \alpha < 2$

For the case  $1 < \alpha < 2$  we now proceed to construct a  $K = K_0$  – quasiconformal mapping  $f \neq F$  of G onto G' which is equal to F on  $\partial G$ . This proves non-uniqueness of the extremal mapping for the exponents  $\alpha \in (1, 2)$ .

First let  $\alpha > 1$  be arbitrary, i.e.  $\beta = 1/\alpha \in (0, 1)$ , and K > 1. We define the mapping w = f(z) = u + iv for  $y \ge 0$ ,  $0 \le x \le y^{\beta}$  by

$$u(x, y) = Kx v(x, y) = y + (1 - y^{-\beta}x) \delta(y),$$
(4.1)

<sup>&</sup>lt;sup>2)</sup> In § 6 we construct a class of mappings for  $\alpha \in (1, 3)$ , but the definition is more complicated than the mappings of §§ 4, 5.

where  $\delta(y)$  is assumed to be continuous and piecewise continuously differentiable,  $\delta(0)=0$ . For fixed y this is simply a linear mapping of the horizontal segment  $0 \le \text{Re } z \le y^{\beta}$ , Im z=y, onto the segment with the same point  $(Ky^{\beta}, y)$  of  $\delta G$  and the point  $(0, y+\delta(y))$  as endpoints. We then extend this mapping to the left half of G, i.e. for  $-y^{\beta} \le x \le 0$ ,  $y \ge 0$ , by symmetry. In order that f be topological it is necessary and sufficient that  $y+\delta(y)$  is strictly increasing. The mapping f is K-quasiconformal, i.e.  $D \le K$ , if and only if

$$D + 1/D = \frac{u_x^2 + u_y^2 + v_x^2 + v_y^2}{u_x v_y - u_y v_x} \le K + 1/K.$$
 (4.2)

We have  $u_x = K$ ,  $u_y = 0$ ,  $v_x = -y^{-\beta} \delta$ ,  $v_y = 1 + (1 - y^{-\beta} x) \delta' + \beta x y^{-\beta - 1} \delta = 1 + (1 - \theta) \delta' + \beta \theta y^{-1} \delta$ , with  $\theta = x \cdot y^{-\beta}$ ,  $0 \le \theta \le 1$ , and therefore

$$u_{x}v_{y} - u_{y}v_{x} = K[1 + (1 - \theta)\delta' + \beta\theta y^{-1}\delta], \qquad (4.3)$$

$$u_{x}^{2} + u_{y}^{2} + v_{x}^{2} + v_{y}^{2} = K^{2} + y^{-2\beta} \delta^{2} + 1 + (1 - \theta)^{2} \delta^{2} + \beta^{2} \theta^{2} y^{-2} \delta^{2} + 2(1 - \theta) \delta^{2} + 2\beta y^{-1} \delta^{2} + 2\beta \theta (1 - \theta) y^{-1} \delta^{2} \delta^{2}.$$

$$(4.4)$$

In order to get necessary conditions for  $\delta$  we look at the points x=0 and  $x=y^{\beta}$ . For x=0, i.e.  $\theta=0$  (or rather  $\theta=0+$ , as we take the limits from the right hand side) we get

$$D + 1/D = \frac{K^2 + 1 + y^{-2\beta} \delta^2 + {\delta'}^2 + 2 \delta'}{K(1 + \delta')}$$
(4.5)

and therefore

$$x = 0 + : D \leqslant K \Leftrightarrow (K^2 - 1) \delta' \geqslant \delta'^2 + y^{-2\beta} \delta^2. \tag{4.6}$$

This gives us the necessary conditions

$$0 \le \delta' \le K^2 - 1, \, \delta y^{-\beta} \le K^2 - 1.$$
 (4.7)

As  $\delta(0) = 0$ , we must have  $\delta(y) \ge 0$ .

For  $x = y^{\beta}$ , i.e.  $\theta = 1$ , we get similarly

$$D + 1/D = \frac{K^2 + 1 + y^{-2\beta} \delta^2 + \beta^2 y^{-2} \delta^2 + 2\beta y^{-1} \delta}{K[1 + \beta y^{-1} \delta]}$$
(4.8)

and therefore

$$x = v^{\beta}: D \leqslant K \Leftrightarrow (K^2 - 1) \beta \geqslant \beta^2 v^{-1} \delta + v^{1 - 2\beta} \delta. \tag{4.9}$$

This gives us the following necessary condition (stronger than the last inequality in (4.7) for  $y \ge 1$ )

$$\delta(y) y^{1-2\beta} \leqslant (K^2 - 1)\beta \tag{4.10}$$

which, in view of the first inequality of (4.7), excludes  $\beta < \frac{1}{2}$ . An extremal mapping of the proposed form (4.1) can therefore at most be constructed for the exponents  $\frac{1}{2} \le \beta < 1$ , i.e.  $1 < \alpha < 2$ .

From now on assume  $\frac{1}{2} < \beta < 1$ . We want to show that a mapping can in fact be constructed with a  $\delta$ -function of the form  $\delta(y) = By^{1-t}$ . We first consider the points  $y \ge 1$ . Because of (4.10) we must have  $1 - 2\beta + 1 - t = 2(1 - \beta) - t \le 0$ , and because of (4.7) we must have  $\delta'(y) = B(1-t)y^{-t} \ge 0$ . Therefore the only possible values for t are

$$2(1-\beta) \leqslant t \leqslant 1. \tag{4.11}$$

But t=1 is excluded, for then  $\delta'=0$  and thus  $\delta=0$  by (4.6). This shows that the case  $\beta=\frac{1}{2}$  cannot be handled in this way.

The expressions (4.3) and (4.4) now become

$$u_{x}v_{y} - u_{y}v_{x} = K\{1 + By^{-t}[(1 - \theta)(1 - t) + \beta\theta]\}$$
(4.12)

$$\begin{cases} u_x^2 + u_y^2 + v_x^2 + v_y^2 = K^2 + 1 + B^2 y^{-2t} [(1 - \theta)^2 (1 - t)^2 \\ + \beta^2 \theta^2 + 2\beta \theta (1 - \theta) (1 - t) + y^{2 - 2\beta} ] \\ + 2B y^{-t} [(1 - t) (1 - \theta) + \beta \theta] \end{cases}$$

$$(4.13)$$

The condition (4.2) becomes

$$(K^{2}-1)[(1-\theta)(1-t)+\beta\theta] \geqslant By^{-t}[(1-\theta)^{2}(1-t)^{2}+\beta^{2}\theta^{2} + 2\beta\theta(1-\theta)(1-t)] + By^{2-2\beta-t}$$
(4.14)

We put  $t = 2(1 - \beta)$ . Then the left hand side of (4.14) becomes

$$(K^{2}-1)[(2\beta-1)+\theta(1-\beta)] \geqslant (K^{2}-1)(2\beta-1). \tag{4.15}$$

On the other hand the right side of (4.14) becomes, for  $y \ge 1$ ,

$$By^{-2(1-\beta)}[(1-\theta)^2(2\beta-1)^2+\beta^2\theta^2+2\beta\theta(1-\theta)(2\beta-1)]+B\leqslant B\cdot \text{const.}$$
(4.16)

It is therefore clear that the inequality (4.2) will be satisfied for  $y \ge 1$  provided the constant B > 0 is taken sufficiently small.

We still have to define  $\delta$  for  $0 \le y \le 1$ . We try  $\delta(y) = By$ . Putting t = 0 in (4.14) we get for the left hand side

$$(K^{2}-1)[(1-\theta)+\beta\theta] = (K^{2}-1)[1-\theta(1-\beta)] \geqslant (K^{2}-1)\beta$$
 (4.17)

and for the right hand side,  $0 \le y \le 1$ ,

$$B[(1-\theta)^{2} + \beta^{2}\theta^{2} + 2\beta\theta(1-\theta)] + By^{2(1-\beta)}$$

$$= B[1-\theta(1-\beta)]^{2} + By^{2(1-\beta)} \le 2B.$$
(4.18)

The condition  $D \le K$  is therefore satisfied in  $0 \le y \le 1$  as soon as  $0 < B \le \frac{1}{2}(K^2 - 1)\beta$ .

In view of the foregoing let us therefore set

$$\delta(y) = \begin{cases} By & 0 \le y \le 1 \\ By^{2\beta - 1} & 1 \le y \end{cases} \tag{4.19}$$

The condition  $D(z) \le K$  will be satisfied a.e. in G providing B > 0 is chosen sufficiently small. We thus have a one-parameter family of extremal mappings  $f \ne F$ .

## § 5. Construction of a Mapping, $\alpha = 2$ .

To prove non-uniqueness of the extremal mapping for the exponent  $\alpha = 2$  we define w = f(z) = u + iv as follows for  $y \ge 0$ ,  $x^2 \le y$ .

$$u(x, y) = Kx v(x, y) = y + \delta(y) - x^{2}y^{-1} \delta(y)$$
(5.1)

where

$$\delta(y) = \begin{cases} By, & 0 \leq y \leq 1 \\ B, & y \geq 1 \end{cases}.$$

Here the horizontal segment Im z = y is mapped onto a parabola with endpoints  $(\pm K\sqrt{y}, y)$ ; that is, f has the proper boundary values. Since f maps vertical lines in G onto vertical lines and v(x, y) is a strictly increasing function of y, f is topological.

We find that the condition (4.2) is expressible as follows:

$$(1+4x^2) B \le K^2 - 1, x^2 \le y \le 1$$
(5.2)

and

$$(4 + x^2 v^{-2}) B \le K^2 - 1, x^2 \le v, v \ge 1.$$
 (5.3)

Hence, if we choose

$$0 < B \leqslant \frac{K^2 - 1}{5}$$

f will be K-quasiconformal, and therefore extremal.

# § 6. Construction of a Mapping, $1 < \alpha < 3$

For the general case we define f(z) = u + iv as follows. For  $0 \le x \le y^{\beta}$ ,  $y \ge 1$ ,

$$u(x, y) = K \left[ x + \frac{B(1-\beta)}{2} (x^2 y^{\beta-2} - x y^{2\beta-2}) \right].$$

$$v(x, y) = y + \left[ y^{2\beta-1} - \frac{1}{K} y^{\beta-1} u(x, y) \right] B.$$
(6.1)

For  $0 \le x \le y^{\beta}$ ,  $0 \le y \le 1$ , we define

$$u(x, y) = K \left[ x + \frac{B(1-\beta)}{2} (x^{2}y - xy^{\beta+1}) \right]$$

$$v(x, y) = y + \left( y - \frac{1}{K} y^{1-\beta} u \right) B.$$
(6.2)

Furthermore, let u(-x, y) = -u(x, y), v(-x, y) = v(x, y). B will again be a sufficiently small positive constant.

It is clear form the definition of v as a function of u that f maps horizontal segments onto precisely the same images as in § 4. Since  $u_x > 0$  when B is sufficiently small, (see below) the mapping is a homeomorphism.

For  $y \ge 1$  we find the partial derivatives to be as follows:

$$u_{x} = K [1 + \varphi_{1}(x, y) B], \varphi_{1}(x, y) = \frac{1 - \beta}{2} (2xy^{\beta - 2} - y^{2\beta - 2})$$

$$u_{y} = \varphi_{2}(x, y) B, \varphi_{2}(x, y) = \frac{K(1 - \beta)}{2} [(\beta - 2) x^{2}y^{\beta - 3} - (2\beta - 2) xy^{2\beta - 3}]$$

$$v_{x} = -y^{\beta - 1}B - y^{\beta - 1}\varphi_{1}B^{2}$$

$$v_{y} = 1 + \varphi_{3}(x, y) B + \varphi_{4}(x, y) B^{2}, \varphi_{3}(x, y) = (2\beta - 1) y^{2\beta - 2} - (\beta - 1) xy^{\beta - 2}$$

$$\varphi_{4}(x, y) = \frac{(1 - \beta)^{2}}{2} y^{\beta - 2} (x^{2}y^{\beta - 2} - xy^{2\beta - 2})$$

$$-\frac{1 - \beta}{2} [(\beta - 2) x^{2}y^{2\beta - 4} - (2\beta - 2) xy^{3\beta - 4}].$$

The condition (4.2) becomes, as  $B \rightarrow 0$ ,

$$\frac{K^{2}[1+2\varphi_{1}B]+1+2\varphi_{3}B+0(B^{2})}{K[1+(\varphi_{1}+\varphi_{3})B+0(B^{2})]} \leq \frac{K^{2}+1}{K}.$$
(6.3)

It is easy to verify that

$$|\varphi_n(x, y)| \le Cy^{2\beta-2}, n = 1, 2, 3, 4, (0 \le x \le y^{\beta}, y \ge 1),$$

for some constant C. The  $O(B^2)$  terms in (6.3) are therefore bounded by

$$\operatorname{const} \cdot B^2 y^{2\beta-2}$$
.

Simplifying (6.3) we therefore obtain

$$(K^2 - 1)(\varphi_3 - \varphi_1) \geqslant 0(B) \tag{6.4}$$

Where

$$0(B) \leqslant \operatorname{const} \cdot By^{2\beta-2}$$

To satisfy (6.3) for sufficiently small B it is therefore sufficient if K > 1, and if

$$\frac{\varphi_1-\varphi_1}{v^{2\beta-2}}$$

is positive, and bounded away from 0. In fact, we find

$$\frac{\varphi_3 - \varphi_1}{v^{2\beta - 2}} = \frac{3\beta - 1}{2} > 0.$$

We next consider  $0 \le y \le 1$ . We find

$$u_{x} = K[1 + \psi_{1}B], \psi_{1} = \frac{1 - \beta}{2} (2xy - y^{\beta+1})$$

$$u_{y} = \psi_{2}B,$$

$$v_{x} = -y^{1-\beta}B - y^{1-\beta}\psi_{1}B^{2},$$

$$v_{y} = 1 + \psi_{3}B + \psi_{4}B^{2}, \psi_{3} = 1 - (1 - \beta)xv^{-\beta}.$$

The functions  $\psi_n$  are all bounded for  $0 \le x \le y^{\beta} \le 1$ . To satisfy (4.2) for sufficiently small B it is, by analogy with (6.3), (6.4), therefore sufficient that  $\psi_3 - \psi_1$  is positive and bounded away from 0. We find, in fact,

$$\psi_{3} - \psi_{1} = 1 - (1 - \beta) x y^{-\beta} - (1 - \beta) x y + \frac{(1 - \beta)}{2} y^{\beta+1}$$

$$\geqslant 1 - (1 - \beta) - (1 - \beta) y^{\beta+1} + \frac{1 - \beta}{2} y^{\beta+1} = \beta - \frac{1 - \beta}{2} y^{\beta+1}$$

$$\geqslant \beta - \frac{1 - \beta}{2} = \frac{3\beta - 1}{2} > 0.$$

#### REFERENCES

- [1] Blum, Eugen, Die Extremalität gewisser Teichmüllerscher Abbildungen des Einheitskreises, Comment. Math. Helv. 44 (1969), 319-340.
- [2] SETHARES, G. C., The extremal property of certain Teichmüller mappings, Comment. Math. Helv. 43 (1968), 98–119.
- [3] STREBEL, Kurt, Zur Frage der Eindeutigkeit extremaler quasikonformer Abbildungen des Einheitskreises, Comment. Math. Helv. 36 (1962), 306-323.

Received November 26, 1969